X = 3f<_8) o] 7 % '3]—0’113]-.
\:l"/l\—f(x) :_5 +4 Oﬂ EHO]-Oq 2f(_4) _4 H}]\- =




® 6




3. A PBa,-b)7t Al 2AHEH A& ©, oh F o AFEHO 9
827
@ (-a,b) @ (ab,a) ® (S, a+b)
a b
@(a+b, —ab) ® (E, —a>

B

rr

3a<0, -b>0°B2 a<0, b<0
(=a,b), (ab, a), (g a +b), (9 - g) L mE A 9

Z,
o] olet.

@ (a+b, —ab) T x, yAHEI} BE 40|02 A3 AHEH 9]0]
Aolct.







yl\
1 N
o\ T
—4} -]
O y=4x @ y=4x-1 @)y = —4x
4
@y:—4x—1 @yz—;

y=ax(a#0)°l (1,-4)E HYotHA
-4=a
Ly =—-4x




S
- L -- N
< ; ©
S o o~ |

S

I

oy oy = &
m/_“_ v jald %o ™ o«
& X Koo, s
o E % o o ~ o0 F
e o Nl O ©vix g = ol
o S oa gt L B i
o Aol = of © - MT
I & ﬂ

T A Fod =
9 A w7 . T 2 ol

I o s

J_I_ﬂw m\ﬂ/ m\ﬂ/ 3:2% m\ﬂ/ m_n_/AT |

L €2 ARE e >~

T o@e o o &

6.



20

S flx) = == oA F5gho] -5, -2, 4, 54 wf, o] F5o] 1
= - X
x 9] 7ol ghe F5hoiat,
» E
> ®™e: 5
WA () = -2 LR -5, ~2, 4,5
20
f)=-—=-5
20
f(x) = - =2
f(x):—?zél x=-5
f(x):—%zf) Lx=—4

nox9 FHe -5, —4, 4, 10
—-5-4444+410=5




AEEE 9] 674 Wol AUk, 7k Aol
el ABE UErH Ao 4] e SaNG
AL H7lo|A mE Zakat, EEENEACIEEEE
S ol >
H7]
& A(-1,3) © B(-3.2) © C(5.0)
® D(-2.-3)  ® E(-4,0) ® F(-2.4)
> =
> =
> EE: O
> g @

A(1,3), B(=3,2), C(5,0), D(=2,-3), E(0,-4), F(=2,4)




ey =ax? T2 (-3,6)= AL W, = T 2
= Lol A= 20

OH)  o(l)  ows

@ (7,-4) ® (1,2)

%
4>
=
I
Q
=

lo

B

y =ax7t & (-3,6)& AUEE x = -3,y = 6= HYstH
= (-3)a




Qy=-
© y=-2x
4
© y:_;
@ y=2x
@ EE x 3ol gty ghol &4F -1 o]t}

14 @24 @34 @4  ©574

y=ax(@#0)%y="2(a#0) N a<0d A2 42

S AYERy = —% o}y = oy A3 AFEWE 2] oFt}.




11. y= i—i(a #0)9] TIZA A (3,1), (-2,6) 2 AL 0, a+bO] FHL?

3 9 3
© -3 @ -3 ® 2 @ 3 @5

x=3y=12y=—(a#0)° HdsIH
I
3
a=3
3 §
y=;°ﬂ (-2,b) S HYstH
3 3
b=25=73
3 3
atb=3-5=1




& % 2dmstofel I 2§

Ay
4 0
1
@y—gx @xy:_S
@ y=—ix ®y=--+1
2 X




13.

7017 90em Q) 971% Eor_cq
2 3em A Zeith B2
yemet &, 25 2 7F

@ 20& @ 258 3)30

y=3x
y=90= H4stH x = 30°]th.




14.

ey =20 o T meF A4 y =8 o] F M A B O,
HAY AOB o Wil a, b 7t BF B4 A (0, b) = BF

)
747 (& 0 & A7)

N

©aA @uA GsA @A © 0%

B ~

yl\

\/ .
T o 12

1+1+3+3+5+5+7=25




10, 1, 2, 3, 4, 5 ¢l

xo gkol 1, 2, 3, 4, ---, 100]2, y2] Flo
flx) = (xB} 22 24=0] 74 o gkl =2
170 @ 278 ® 371

@ 474

o

’Eﬂ-

= S

f(x) = (x B} 22 &4=9] 74 of| A
x=14wy=0,x=2<Wy=0
x=34dmy=1,x=4dfy=2
x:5°—‘,_]fﬁﬂy:2,x:6?—-_luﬂ)/:3
x=79 W y=3x=8¥%wy=4
xr=99wy=4x=10<Hy=4
A0, 1, 2, 3, 4 o]B & 50|t}




stoizt.

9

o, ab o] Fh& T

[e]

Ho| &

1

Jol5 A

o

2

stol

°

of o

==
=

)
=X

(-a,b)°]1L

olJ
!
N

ajl

SR EEEAE
o o

of

i

A(ab)Ey

1& Al

;go

s

5]

3= x
b

+3
-2

2

T o= —1, b= 2

b+3)°1t}.
-1x2=

2

B (2 + a,
<2+a9_
—-a=2+a, b
. ab




17.

y o] e §1e gl
SR (vy) o HE} BE 590 Ao ASE Totolet

yzgoﬂxz—:s y=42 qYsha
4:-%, a=-12
@#yz——i’llﬂﬁn#’ﬂ QA

57} BT 354

(1,-12), (2,-6), (3,
(-2.6), (=3.4), (-4.3), (6,2), (-12,1)
o] 127101t

—4), (4,-3), (6,-2),

oA (x, y) o =442
A2 x 9 2487} £(129] o) 2 oIk,

(12,-1), (-1,12),




18.

ohe T9e ol Skl B B
R 12 4012 DA o 2

ole}. @A o] AE] FHAol 0wt U
WS 201 2147198 e
ok shx Fstolet.

n
d
=)
e

o2 744 of) dhelE et
VAL o Y, TjEFS y it 5hd

a

y="2olx=60, y=20& Y3t 20:6“—0, a = 1200
) 12
= o) ey = 20 )

r

S 20% S7HA171 2 H 20 x 1.2 = 24 (HH)

1200 -
y=——°ly=248 g3t
24:@ x =50




19. x4 Y29 B4 fg % () = avglx) = —- 2 3] T 1], 2x
f(-1) = 1015} f = g7t ARIES s1E A% b o) T,

a<b)

1 1 1 1
@a——%,bzil @a—%—bzli
@a:—a,b:—i @6125,1?:5
® a=2,b=2

2xf(—1):—1—>f(—1):%°]1’4'
f-1)=~a=3 »a=—3,f(x) = —5xlct
f=g°lE=E f(1) = g(1)
2 —gx=-2olx, f(1) = g)ol=R
——xlz—l%
1
1 1
a:—i,bzi




20. AP distd AP (x,y)E X =2x+

y = 3,
AA ), g P'(9,11)°] =& A P’ o] JRE (a,

&2

@0 @ ® 2 @ 3

_3y_|_59}71-o] &

byt & o, a+ b9

x =2x+3,y =-3y+5°]A4
9=2a+3,11=-3b+50°|1
a=3b=-20P2 g+ b =10]|t}.




